
spare parts list 
Primo-Stripper 230V EU

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 Ilsfeld 
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com 



Table of contents

Page 2 / 20 31.03.2024

1 Primo Stripper 230V EU 0001/2016-up to now           3
1 Machine           5

1 Motor WE22 230V 50-60Hz           7
12 Blade holder set ECO         10

2 Handle T compl.           12
3 Handle compl.           14
4 Circuit diagram           16
5 Tool kit #021263           18
6 Accessories           20



1 Primo Stripper 230V EU 0001/2016-up to now

Page 3 / 20 31.03.2024



1 Primo Stripper 230V EU 0001/2016-up to now

Page 4 / 20 31.03.2024

Item no. Article no. Description

1 01_01_082348 Machine

2 01_02_081980 Handle T compl.

3 01_03_081981 Handle compl.

4 01_03_015930 Circuit diagram

5 01_05_021263 Tool kit #021263

6 01_06_082348 Accessories



1 Machine

Page 5 / 20 31.03.2024



1 Machine

Page 6 / 20 31.03.2024

Item no. Article no. Description Quantity

1 081441 Motor WE22 230V 50-60Hz 1

2 081651 Bearing plate Primo-Stripper 1

3 015221 Striking foot DURO/ECO/Primo 1

4 014931 Rubber Bearing Duro/Eco/Primo-Stripper 4

5 082173 Grip frame/Primo 1

6 017657 Shim washer 42x52x2 DIN 988 1

7 014707 Ball-bearing 62304 1

8 013345 Spare blades, 210 x 60 x 1 mm Duro/Vario 1

9 081653 Eccentric disc Primo-Stripper 1

10 014815 Hexagon nut M6 DIN985 12

11 014772 Hexagon head bolt M 6x22 DIN 933 4

12 036009 Blade holder set ECO 1

13 014752 Cylinder head screw M6x20DIN 912 microve 8

14 049282 Stopper Ø25,0 black 1

15 014860 Schnorr Washer M8 2

16 082184 U-shaped handle GN 725-150-M8 1

17 014775 Hexagon bolt M 8x25 DIN 933 2

18 014745 Cylinder head screw M14x25 DIN 912 3

19 017741 Washer M14 DIN 125 2

20 014863 Schnorr Washer M14 1

21 017007 Cylinder head screw M5x35 DIN912 4

22 014858 Schnorr washer M5 4

23 014827 Washer M6 DIN 125 A 4

o.Abb. 059185 Plug adapter 2-pole 230V CH T11 1

o.Abb. 073312 Adapter Plug 2-pol.230V SK2 UK/Euro 1

o.Abb. 015215 Cable 2x1²x4m black w.plug 1

o.Abb. 083110 El.cord 2x1²x4m 230V w.plug CH 1

o.Abb. Supply cable 4m 230V m. Plug UK 1

o.Abb. 042160 Cable 2x2,5²x4m black SEE 15215 1



1 Motor WE22 230V 50-60Hz

Page 7 / 20 31.03.2024



1 Motor WE22 230V 50-60Hz

Page 8 / 20 31.03.2024

Item no. Article no. Description Quantity

2 081852 Push button black Motor-WE22 1

3 081854 Compression spring Motor WE22 1

4 081855 Guide bush Motor WE22 1

5 081856 Gearbox housing cpl. motor-WE22 1

6 081858 Pressure bolt Motor-WE22 1

7 081860 Hexagon nut with motor shoulder WE22 1

8 081861 Bevel gear and pinion motor WE22 1

9 081863 Washer 11,1x28x0,3 Motor WE22 1

10 081864 Deep groove ball bearing 12X37X12 Motor 1

11 081865 Fixed bearing cover Motor-WE22 1

12 081866 Fan with dust protection Motor WE22 1

13 081867 Armature complete 230V Motor-WE22 1

14 081868 Centrifugal disc Motor WE22 1

15 081869 Deep groove ball bearing Motor WE22 1

16 081870 Rubber bearing Motor WE22 1

17 081871 Air guide disc Motor WE22 1

18 081873 Panhead screw motor WE22 2

19 081874 Field package with winding Motor-WE22 1

21 081875 Panhead screw front Housing WE22 4

22 081876 Oval head screw blue microencapsulated 1

23 081877 Lins.shr. blue short microencapsulated 1

24 081878 Seal Motor WE22 2

25 081879 Gear flange complete Motor-WE22 1

30 081880 Grinding spindle Motor WE22 1

34 081883 Screw for carbon cover 2

35 081884 Carbon brush cover Motor-WE22 2

36 081885 Carbon brush set 230V Motor WE22 1

37 081886 Carbon guide Motor-WE22 2

38 081889 Screw for Handle Motor WE22 8

39 081890 Machine housing handle black WE22 1

40 081892 Locking plate Motor WE22 1

41 081893 Edge protection Motor-WE22 1

42 081895 Electronic switch set 230V Motor-WE22 1

43 081897 Cable clamp Motor WE22 1



1 Motor WE22 230V 50-60Hz

Page 9 / 20 31.03.2024

Item no. Article no. Description Quantity
44 081899 Anti-kink grommet Motor-WE22 1

45 081900 Cable with CEE-Plug Motor WE22 1

47 081901 Machine housing black WE22 1

49 081902 Attenuator Motor WE22 1

50 081904 Stop lever black Motor WE22 1

51 081905 Pressure spring for lever Motor-WE22 1

53 081906 Screw for cable clamp Motor WE22 1

99 081907 Gear flange, spindle, ring gear cpl. 1



12 Blade holder set ECO

Page 10 / 20 31.03.2024



12 Blade holder set ECO

Page 11 / 20 31.03.2024

Item no. Article no. Description Quantity

1 015223 Deflector new Duro/Vario/Eco/Primo 1

2 014772 Hexagon head bolt M 6x22 DIN 933 4

3 014815 Hexagon nut M6 DIN985 4

4 014827 Washer M6 DIN 125 A 4

5 014962 Plastic box 30x65 SM1200/SM800/Duro/LS 1



2 Handle T compl.

Page 12 / 20 31.03.2024



2 Handle T compl.

Page 13 / 20 31.03.2024

Item no. Article no. Description Quantity

1 062802 Interior Tube Duro Handel VG 1

2 062803 Exterior Tube Duro Handel VG 1

3 062780 Transversal tube DURO JOKA 1

4 014919 Star grip bolt M8x55 2

5 014877 Clamping lever M8 Duro 2

6 014923 Grip cover/foam 2

7 082031 Truss-head screw M8X55 DIN 603 2

8 014824 Wing nut M8 DIN 315 2

9 178579 Velcro cable tie 20cm black 1

10 081980 Stiel Primo-Stripper mit T-Griff kpl. 1



3 Handle compl.

Page 14 / 20 31.03.2024



3 Handle compl.

Page 15 / 20 31.03.2024

Item no. Article no. Description Quantity

1 062803 Exterior Tube Duro Handel VG 1

2 062802 Interior Tube Duro Handel VG 1

3 014877 Clamping lever M8 Duro 1

4 014919 Star grip bolt M8x55 1

5 014925 Special handle Duro 2

6 014935 End cap outer tube 1

7 014824 Wing nut M8 DIN 315 2

8 082031 Truss-head screw M8X55 DIN 603 2

9 178579 Velcro cable tie 20cm black 1

10 081981 Stiel Primo-Stripper mit VG kpl. 1



4 Circuit diagram

Page 16 / 20 31.03.2024



4 Circuit diagram

Page 17 / 20 31.03.2024



5 Tool kit #021263

Page 18 / 20 31.03.2024



5 Tool kit #021263

Page 19 / 20 31.03.2024

Item no. Article no. Description Quantity

1 013345 Spare blades, 210 x 60 x 1 mm Duro/Vario 2

2 015229 Blade protection 210mm 2

3 017598 Special key SW10 Wolff 2

4 017612 Double fork wrench sw10/13 mm 2

5 014962 Plastic box 30x65 SM1200/SM800/Duro/LS 2

6 033203 Blade protection Duro/Vario/Eco/Primo 2



6 Accessories

Page 20 / 20 31.03.2024

Article no. Description Quantity

015315 Hearing protectors 1

015809 Safety gloves 1 pair 1

021263 Tool kit Eco/Primo-Stripper 1

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Table of contents
	1 Primo Stripper 230V EU 0001/2016-up to now
	1 Machine
	1 Motor WE22 230V 50-60Hz
	12 Blade holder set ECO

	2 Handle T compl.
	3 Handle compl.
	4 Circuit diagram
	5 Tool kit #021263
	6 Accessories


